Just before sunrise, the temperature in 1
degrees Fahrenheit was 13 degrees
below zero. By 10 a.m. the temperature
had risen 19 degrees. Which shows how Key
to find the temperature in degrees
Fahrenheit at 10 am.?

13 — 19 .
Using the key above as a guide, what is
the result of the operation in the
-5 model below?
-13 - 19
-13 + 19 O Q

Puré water boils at 212° F. If a certain
chemical is added to the water, the

boiling point changes by -28° F. At -13
what temperature does the new liquid -5
boil? 5
A 240°F 13
i B 184°F
c -184°F . . _ -
D -240°F During a winter’s night, the low
temperature was recorded at 19°F. The

wind-chill temperature that same night
was -7°F. What was the difference
between the wind-chill temperature
and the low temperature?

Vicki had $228 in her checking i
account. She used $37 to buy a
birthday gift for her grandmother

After that, how much di .
eck 01 TF
12°F
25°F
26°F

Which is closest to the location of point!
A on the number line?

A
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Which situation would NOT be
represented by (-8)?

8 degrees Celsius below zero
a debt of $8

8 degrees Celsius

a withdrawal of $8

Which is the warmest: -10 °C,
_5°C, 0°C,or 5 °C?

-10°C
-5°C
0°C
5°C

1590
[ 10°C
G
0°C
5°C
r-10°C
15 °C
F20°C

T,

)

L1

Which is the highest elevation?

200 m below sea level
100 m below sea level
sea level

100 m above sea level

Missy and Jack are scuba
diving in Belize. Missy goes 18
meters below sea level. Jack
goes 2 meters deeper than
Missy. Which integer shows
Jack’s sea level location?

—20 meters
—16 meters
16 meters
20 meters

5. Select the symbol that makes
the statement correct.

13 2 -53

OwP
v A

o

Add: -9 + -12

21
3
-3
-21

oOw>»

Add: 13+ -3

N

16
10
-10
-16

oOwm>

ol

The temperature at 6 pm was
_6° C. By 10 pm the
temperature had fallen three
degrees. What was the
temperature at 10 pm?

-9 °C
-3°C
3 G
9°C

oO®m >

Multiply: -14 x 29

-406
-306
306
406

gow» ©
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RULES FOR INTEGERS { SIGNED NUMBERS)

ADDITION SUBTRACTION

+ and + ADD THE OPPOSITE!

i
e

- and = = = (Change the subtraction sign To
an addition sign.
+ and - = + Change the sigh of the second
HLmker .
- And — = - Mow follow the Addition rules!)

o

MULTIPLICATION AND DIVISION

4+ and + = + 4+ and = = =
- and = = T - and + = =

Compliments of Lois Terms vwrw loisterms.com






2tH =0 -3+ (-7)=-10 S0me, s’gns »\}-usjr add

ond KeeP sign.

5+ (-a)= - —TA+|2=5 different Sigﬁs ~ Subtract and
Keep 319% of i qqer”

| L Number..

=T = —l "‘”(‘”7) =-13 X v\fiowcf st number alone.
5-13 = 5+013) = —8 2. Change — sign o + sign,

= (-8)= -4 +8 = L 'B.thngéslgn of 2™ number

4. Now follow ‘\Add;hj In‘\?e:?ers“

Q*('5)$q+3":‘2~;~ Rules
2% (L1198 q+3=3 . 80me Sighs - mulhply or divide
Sl X (—-Cg) =5 -,3+(-1)=9 as usual. Answer will be

Ix(3)=-21  —HTBF -8 different S1gns - multiply or divide

. as usual. Answer will be
& o= e —(-9a)=" _
Dxu=-4g BTN NEGATWE.

P

| N ]
Can I add, subtract, mutiely -3 +(-2)=" q+(-1)=

~what did Tde? - sxy=? xH=?

— How do T Know my answer
g correct © |

. | Lo ::?
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